U4D2.notebook
Homework Answers al
pg 356 - 358: _%\‘ %é; ¢
4. {(3,-1),(5,2),(5,-3), (0, 2)} & ©, %
56. £1(x)=-x+7 78 & 80 see graph O}I > ?%
59, £1(x) = (4 - 7x)/x e g 92 F100)= (-x - 3)/x Cor ~
= % %

f(x): D: {x|x -7} f(x): D {x|xz-1}

R: {yly 0} R: {yly 0}
F(x): D {x|x 20} £1(x): D: {x|x # 0}
R: {ylyz-7} R: {yly#-1}

61 £'(x) = (3x+4)/(x-1) 96. ()= (2x+ 1)/(1 - x)

f(x): D: {x|x#3} f(x): D: {x] #-2}

R {ylyz1} R {yly=1)
£1(x): D: (Ll 21} Fix) D {xIxz 1}
R: {yly 23} R tyly#-2)
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Warm-Up: Find the inverse algebraically.
L= D x# 1 2 -4 D: X o>
X X7|1 ’R:y:{:o : 2x+1 ’“R: y#zﬁ
X= ____I X= %i
Y o 2y« |
XY-¥% = | <*T&) 2y +x = 3y-4
XY= X+l Ipx_ ™Y-3Y=x=4
=X\ X 2%-3) = -X-Y
b oo
Yy )= XL 2X-3
o F=2L o) F)= 555
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List the transformation(s) needed to transform h(x) = 2% into the graph of the given
function:

1 f(x)=2-5 2. f(x)=2*-5

VS down 5 O 1Ft 2
®@VS down S

3. f(x)=—2"+1 4. f(x)=27"-4
rx*‘.! r‘j 'Qﬁ';

USuel O VS doun ¢

@Vertical Shrek b of 3

@ HS left 1.

6. Writethe f(x) which is h(x) translated up 2 and left 3.

k) : Q*3 2

Po 357
find +he \nverse

©a

Pa 370-371(: . :
4. £(x)=37* } raph sn
oy= 2% J e
27-32 State Transformationsfrom
27. §0)=2>%! f)=2%

28 £(x)= 2‘;‘

2. f(x)=2-3

30. $00= 2%+ 1

3l from §()=3 F ()= 4-37
32.§p0=2%' -3
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